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A.   home finder 
B.   home inheritance 
C. component factory 
D. service components 

Answer: A 

Question: 169 
In the Deployment and Configuration specification, how is compatibility between 
monolithic component implementations and nodes determined? 

A.   by comparing the file name against the node's list of supported file extensions 
B.   by checking the implementation's operating system name and version attributes 
C. by matching the implementation's requirements against the node's available 
resources 
D. by using ".dll" files on Windows nodes and using ".so" files on Unix nodes; 
".jar" files will work on either 

Answer: C 

Question: 170 
In the Deployment and Configuration specification, what is the name of the run-time 
entity that provides an interface for administering information about the component 
software that is available for deployment? 

A. PackageManager 
B. PackageDatabase 
C. RepositoryManager 
D. SoftwareAdministrator 

Answer: C 

Question: 171 
The PSM for CCM of the Deployment and Configuration specification requires 
conformant implementations of the RepositoryManager and NodeManager interfaces 
to support what means for accessing artifacts? 

A. the FileManager interface 
B.   the File Transfer Protocol (FTP) 
C. the secure file copy protocol (SCP) 
D. the Hypertext Transfer Protocol (HTTP) 
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Answer: D 

Question: 172 
In the Deployment and Configuration specification, what is the name of the data 
structure that contains all information about an application's deployment into a 
specific domain? 

A.   DeploymentPlan 
B.   ComponentPackage 
C. PackageConfiguration 
D. ComponentAssemblyDescription 
E. ComponentImplementationDescription 

Answer: A 

Question: 173
 
Which operation is called by the Executor actor?
 

A.  initLaunch 
B.   startLaunch 
C. openLaunch 
D. beginLaunch 

Answer: B 

Question: 174 
The PSM for CCM for the Deployment and Configuration specification maps a 
package to what? 

A.  a ZIP file 
B.   a JAR file 
C. a PKG file 
D. a set of XML files 
E. a TAR file (on Unix) or CAB file (on Windows) 

Answer: A 

Question: 175 
In the Deployment and Configuration specification, the target environment is 
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described as a set of ______. 

A. Domains and Connections 
B.   Processors, Hosts, and Networks 
C. Nodes, Interconnects, and Bridges 
D. CPUs, Containers, and Connectors 

Answer: C 

Question: 176 
What happens when the Extensible Transport Framework Handle::add_input 
operation fails? 

A.   A CORBA::INTERNAL exception is raised. 
B.   The Connection instance involved is destroyed. 
C. A CORBA::BAD_INV_ORDER exception is raised. 
D. The behavior is undefined and therefore implementation specific. 

Answer: B 

Question: 177 
Which is a characteristic of a Connection object presented to the message layer by a 
plugged in transport? 

A.  Oneway 
B.   Un-reliable 
C. Bi-directional 
D. Multithreaded 

Answer: C 

Question: 178 
Which statement is true about the thread reentrant policy of the Extensible Transport
Framework Connection interface? 

A.   Multiple ORB threads may call read() simultaneously on the same Connection
object. 
B.  ORBs may only call read() from one single thread at a time on the same
Connection object. 
C. All operations on a Connection object instance can only be invoked from within a 
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single ORB thread. 
D. Multiple ORB threads may call write() simultaneously on the same Connection 
object at the same time. 

Answer: B 

Question: 179
 
Which operation is part of the Extensible Transport Framework Profile interface?
 

A.   read() 
B.   destroy() 
C. connect() 
D. is_match() 

Answer: D 

Question: 180
 
Which statement is true about the Extensible Transport Framework?
 

A.   The Profile::copy() operation may return a shallow copy of a given Profile object. 
B.   Zero-copy is a mandatory Connection Interface operation and must be supported. 
C. A connection must provide reliable delivery of (in principle) arbitrary length 
messages. 
D. When data is available, the message layer must read the data in its entirety from
the connection. 

Answer: C 
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